Marking Scheme
Science
Group ‘A’ - Physics

The force by which an object is attracted towards center of the earth is

called its weight. 1
Fundamental derived

Do not depend on other unit depend on fundamental unit 1
Seven unit many unit 1
u=0m/s

t=20sec.

a=10m/s?

v=?

:.v=u+at 1

=0+10x20 0.5

=200 m/s 0.5

25% of input work is wasted in the form of heat and friction. 2
d = 1000kg/m3

g =9.8m/s?

h=8m

p="?

p = hdg 0.5

=8 x 1000 x 9.8

= 78400 pa 1.5

The work done on a body when it is acted by 1N force to displace through
1m is called 1J work. 1

Potential energy
- The energy possessed by a body
virtue of its position or

Kinetic energy
- The energy of a body by the
virtue of its motion is called kinetic

configuration is called potential energy 1
energy. - KE = % mv? 1
- PE =mgh

The degree of hotness or coldness of body is called temperature. 1

The boiling point of alcohol is 78° C. but water has 100° C. boiling point. 1
The process of bending of light when it passes from one medium to another
is called refraction of light. \n 0.5

\

\ 1.5

10.

Doing make-up or shaving 0.5
Used by doctors to see internal parts of the body. 0.5
The process of repetition of sound after reflection is called echo) 1
It means 50 complete wave are produce in every second 1

Gaining temporary magnetism by magnetic materials due to the presence
of magnet is called magnetic induction.

avoiding the heating of the magnet 1
avoiding dropping of a magnet from a height. 1
Drawing picture with their parts name. 2

Group ‘B’ — Chemistry

Electron, proton and neutron 1.5
C+0,— CO, 2
The method of separating different colors from given solution 1
Distillation 0.5
Chromatography 0.5
Haematite, magnetite 1
Used to make the utensils
Used to make coins, statues 1

Indicator Acid Base Salt

Red litmus Red Blue Neutral

Blue litmus Red Blue Neutral

Methyl orange Red Yellow | Neutral

Phenolphthalein | Colourless | Pink Neutral
Produce less lather with soap. 1
CsH5 (OH); 1

Group ‘C’ — Biology
The process of fusion of male and female gametes is called fertilization. 1
Self pollination Cross pollination
- Transfer of pollen grains from - Transfer of pollengrains from
anther to stigma of same flower anther to stigma of different flower
of same species.

- Doesn’t need agent - Needs agent like air, water,

insects etc. 2
The meristem present at the tip of the root and branches of the plant that
help in increasing the length of the plant is called apical meristem. 1
Increase in length or height of the plant. 1
Structural and functional unit of living beings. 1



Covering b. Developmental activities should be carried out protecting the natural environment.

12.

13.

14.

15.

Protecting 1 This kind of development is called sustainable development. 1
Chlorophylls, Carbondioxide, Water and minerals, Solar energy 0.5 - Appropriate use of resources
Potato — vegetative propagation - Sense of responsibility or any other two 2
Hydra — Budding
. Tapeworm — Regeneration 1.5
Arteries Vein
- Carry blood from heart. - Carry blood from other body
parts to heart.
- Contain thick muscles - contain thin muscles 2

Group ‘D’ — Geology and Astronomy
Soil erosion is the washing or blowing away (by water or wind) of the top

layer of soil. 1
stopping deforestation

Terrace farming should be adopted in hilly region 1
The process of change of bright part of the moon day by day is called
phases of the moon. 1
A revolving star in the universe collided with the sun. The broken parts of
the sun became planets and moon including the earth. 2

Group ‘E’ — Environment Science
The animals which are in declining condition and are in the verge of

extinction are called endangered animals. 1
Bengal Tiger
Asiatic elephant
Red panda
Python 2
The process of trapping of infrared radiation of sun to increase temperature
of the earth. 1
Increase in temperature of the earth.
Imblance in water cycle. 1
NTNC: National trust of Natural Conservation
IUCN: International Union of Conservation of Nature. 1
Natural disaster Manmade disaster
- Events caused by natural reasons | - Events caused by human activities
which causes loss of life and which cause loss of life and
property. property. 1

Correct answer for protecting environment 2
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